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UNIT - /3978 -1

What is the meaning of Cost Accounting? Explain briefly the objects and advantages of costaccounting 5+7+8=20
ST Sraid ®l a1 3 87 mﬁ@mﬁaﬁﬁuﬁwﬁmﬁﬁqﬁmﬁaﬁﬁml
OR/3rJdr

ails of its operations during the year 2

1.

023-24 were as

S. Ltd. is the manufacturer of picture tubes for T.V. det

follows:
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Ordering cost 7100 perorder
[nventory carrying cost 20% perannum
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Minimum usage _
20 tubes per week
imum usage
ey 200 tubes per week
Normal usage

100 tubes per week
Lead time to supply 6-8 week

-8 weeks
You are required to find out following informatigp:

(1) Economicorder quantity.
(2) Ifthe supplier is ready to supply the require quarterly consumption of units at a discount of F5 per unit. is i
worth accepting? A
(3) Reorder Stock Level.

(4) Maximum Stock Level.

(5) Minimum Stock Level.
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UNIT - /5518 -11

Calculate Machine Hour Rate for recovery of overhead for amachine from the following data. There is a group of 4
similar machines in the department.
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Original cost of 4 machines ¥76,800; depreciation at 10% perannum on straight line method. Maintenance cost o1
an average T 8 per day of 8 hours for the group machines. Power 25 paise per running hour (per machine)
Supervision for machine group F640 per month. Allocation of building depreciation on floor area basis for all th
four machines Z80 permonth. Share of manufacturing overheads ¥240 per month for all the four machines.
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Normal working days in the year 300; Normal running hours: one shift of 8 hours. Each machine remained idle f
20% of its normal running hours.

a4 3 A e 2 300, FEiT T P AT A 8 HUS ) U U | el Al S wei & W ue
& 20% \HY TP HH H TE 1S TS | 1



: ORAa
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imaginary figures.
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Explain the objectives, functions and limitations of Management Accounting. Af 7+7=20
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A factory producing metal components has a four year old plant which cost T40,00,000 and which is estimated to
have a total life of 10 years, its residual value is approximately ¥5,00,000. Its average output is 12 units per minute
and runs for 3,000 hours per annum. A proposal is submitted to replace the old plant with a new and much improved
plant which will cost ¥ 1,00,00,000. It is estimated that this new plant will have a life more than six years and a
residual value of approximately T10,00,000. If the new plant is purchased the new plant would give an output of 24
units per minute and would run for 3,000 hours per annum. Detailed annual costs are as follows:
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Present Plant New Plant

T T
Operator's Wages 3,00,000 | 4,00,000
Power Cost 6.00,000 9.00,000
Repairs and Maintenance 3,00,000 5,00,000
Tools (Consumable) 9.00,000 12,00,000
4,00,000 6,00,000

Apportionment of General Factory Fixed Costs
* From the above information prepare a comparative cost statement to show marginal costs and total costs per dozen

of units for each plant. Advise the management foraceestance of the proposal.
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4. From the following particulars, calculate the different material variances: 20
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Explain the classification of budget on the basis of Flexibility. Throw light on the objects and “d"““""’gjﬁ ‘:
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preparing Flexible Budget.
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BC)in a manufacturing company. 20

5. Explain the steps in applying Activity Based Costing (A
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Aproduction department ofa Nokada Mills has fumnishec: the following data for March, 2024:
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Budget Acutal
(€4 &4

Direct Material 50,00,000 63,75,000
Direct Wages 31,25,000 40,62,500
Repairs and Maintenance (3 12,50,000 Fixed) 25,00,000 27.50,000
Staffsalaries (Fixed) 12,50,000 13,75,000
Consumable Stores (Variable) 937,500 11,87.500
Factory Rent (Fixed) 6,25,000 6,25,000
Depreciation (Fixed) 12,50,000 12.50,000
Tools (Variable) 3,12,500 3,75,000
Power and Fuel (Variable) 18,75,000 22.50,000
Administration charges (Fixed) 31,25,000 32,00,000

The department has 100 identical machines. D ring March, 2024 the budgeted and actual production of the
department are 2,00,000 and 2,50,000 units respectively. You are required to present a report showing the
evaluation of the performance of the department based on the concept of respon sibility centre. 20
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